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CHEMISTRY 

CHE-09 : BIOCHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry 
equal marks. 

1. (a) Fill in the blanks : 	 5 

(i) Mild oxidation of glucose yields 

(ii) The fluid mosaic model was proposed 
by 	 

(iii) 	 is an inhibitor of protein 
biosynthesis in bacteria. 

(iv) is 	the 	class 	of 
immunoglobulin that plays a major 
role in allergic reactions. 

(v) The active coenzymatic form of 
thiamine is 	 

(b) Explain any two of the following : 	 5 

(i) Polysaccharides do not undergo 
mutarotation. 

(ii) TCA cycle is an amphibolic pathway. 

(iii) DNA replication requires a primer. 
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2. (a) Define the following terms : 	 4 

(i) Ketone bodies 

(ii) Enantiomer 

(iii) Anaplerotic reaction 

(iv) Photophosphorylation 

(b) Draw the structure of any two of the 
following : 	 2 

(i) Phenylalanine 

(ii) Oleic acid 

(iii) Fructose 

(c) (i) What are prostaglandins ? Why are 
they named so ? 

(ii) Explain how protein synthesis is 
terminated. 	 4 

3. (a) Indicate whether the following statements 
are true or false : 	 5 

(i) The systematic name of stearic acid is 
octadecanoic acid. 

(ii) Z-DNA is a right handed helix. 

(iii) Ketoses have fewer number of 
stereoisomers than aldoses. 

(iv) Plant cell walls are made up of 
peptidoglycan. 

(v) Cholesterol is exclusively found in 
bacterial cell membrane. 
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(b) Differentiate between any two of the 
following pairs : 	 5 

(i) Hemoglobin and Myoglobin 

(ii) B- and T-cells 

(iii) Malignant and Benign tumours 

4. (a) Describe the experimental evidence for that 
3-phosphoglyceraldehyde is the first 
product of the dark reactions of 
photosynthesis. 	 5 

(b) Describe the process of transcription in 
prokaryotic cell. 	 5 

5. (a) Explain the regulation of enzyme activity 
by allosteric regulation or reversible 
covalent modifications with the help of 
suitable examples. 	 5 

(b) Name an enzyme/protein that requires the 
following cofactors : 	 2 

(i) Zn 

(ii) Cu 

(c) Name an important source and the disease 
associated with the deficiency of the 
following vitamins : 	 3 

(i) Vitamin C 

(ii) Vitamin K 

(iii) Riboflavin 
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6. (a) Explain the features of the genetic code. 	5 

(b) Give three examples of enzymes that have 

diagnostic value and write the diseases 

where these are used. 	 5 

7. (a) What is 0-oxidation pathway ? Write the 

equation for the complete degradation of 

palmitic acid by this pathway. How does 

the acetyl-CoA so obtained enter into the 
TCA cycle ? 
	

6 

(b) What is cytoskeleton ? In what way is it 

important for the structure and function of 
the cell ? 
	

4 
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4 
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